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PHILOSOPHY 

Paper - I1 

1 .  Which school of Indian philosophy advocates SvabhiivavEda or naturalism ? 

(A) CZrvZka 

(B) ~TmFhsEi 

(C) Advaita Vedanta 

(D) KZsmir ~aiv ism.  

2. Which Jaina doctrine stands for ahirhsa in vicSrra or non-violence in judgment and 

opinion ? 

(A) AnekSrntavEda 

(B) SyEdvEda 

(C) N a y  avEd a 

(D) Pudgala. 

3.  The Bauddha aGt tEvEda  is the same as  

(A) pratityasarnutpEdavada 

(B) ksanabhangavada . . 
(C) s k a n d h a v z d a  

(D) SunyavEda.  

4. According to the NyZya, the general proposition, 'whatever is knowable is nameable', is 

the example of 

(A) anvaya-v  yEtirek2 

(B) kevala-vyatirek? 

(C) k e v a ~ n v  y? 

(D) avyzp t i .  

5 .  Nirvikalpaka is validated, according to the NyZya, by 

(A) pratyaksa  ( perception ) 

(B) anurnclna ( inference ) 

(C) ~iparnana  ( comparison ) 

(D) s a b d a  ( testimony ). 
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6. According to the Vaisesika, that there is no jar on the ground ( bhutale ghato nclsti ) 

may be regarded a s  

(A) prclgabhEva 

(B) dhvari~sEbhEva 

(C) anyonyEbhEva 

(D) atyantzibhZva. 

7 .  Which one is incorrect ? 

According to the SZrhkhya, punsa is of the nature of 

(B) akartE 

(D) ling&ar?ra. 

8. The classical NyZya proves the existence of self ( Ztmcl ) by 

(A) purvavat anumana 

(B) sesavat anunclna 

(C) sEmclnya todrs tEnumzina 

(D) none of these. 

9. There is only one truly universal religion, and that is Vedanta. Who advocates this 

idea ? 

(A) Rabindranath Tagore 

(B) Mahatma Gandhi 

(C) Sri Aurobindo 

(D) Vivekananda. 

10. People of India are divided into five varnas. Who mooted this idea ? 

(A) Rabindranath Tagore 

(B) M. N. Roy 

(C) Iqbd 

(D) Arnbedkar. 
11. R t a i s a  / an 

(A) law 

(B) method 

(C) duty 

(D) obligation. 
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12. Which of the following schools accepts perception as  the only source of knowledge ? 

(A) Buddhism 

(B) Nyaya 

(C) CZrvZka 

(D) Jainism. 

1 3. S yZd vada is a theory of 

(A) error 

(B) judgement 

(C) morality 

(D) reality. 

14. In Buddhism, the means to attain nirvZna is known as  

(A) astanga yoga 

(B) triratna 

(C) sadhana catustaya 

(D) astZngika mTrrga. 

15. SZrhkhya satkEryavCda is also known a s  

(A) Brahma ParinErnavZda 

(B) Prakrti ParinEmavCda 

(C) VivartavZda 

(D) ArambhavZda. 

16. Which one of the following is correct ? 

(A) ~TmZrhsakas think that vedas are pauruseya 

(B) ~ a b a r a  wrote a commentary on ~ i m ~ h s Z  Sutra 

(C) Bhartrhari's philosophy is known as  bKitacaitanyavEda 

(D) Bhartrhari defends sabdavivartavada. 

17. According to the ~rrn-ari?sa the validity of knowledge is 

(A) svatah 

(B) both svatah and paratah 

(C) paratah 

(D) none of these. 
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18. KayZ, according to Smkara ,  is 

(A) abhzva 

(B) b hEva riipa 

(C) bhEva-abhSrva 

(D) none of these. 

19. ArambhavZda as  a theory of causation is accepted by 

(A) S W y a  

(B) Nyaya 

(C) Advaita Vedanta 

(D) Visistadvaita Vedanta. 

20. According to the Visistadvaita, Brahman admits of 

(A) ~vajSrt?~a bheda 

(B) v y ~ t i ~ a b h e d a  

(C) Svagata bheda 

(D) Abheda. 

2 1 .  Which of the following, according to the Jaina, cannot be wrong ? 

(A) Mati and Sniti 

(B) Manah paryEya and Kevala 

(C) ~ r u t i  and Avadhi 

(D) Mati and Avadhi. 

22. ~ i m ~ i n s a k a s  advocate the self-validity of knowledge in respect of 

(A) utpatti 

(B) jfiapti 

(C) sarnutpatti 

(D) both (A) and (B). 

23. Who among the following does not accept memory as  valid cognition ? 

(A) PrabhZkara 

(B) KumZila 

(C) Both (A) and (B) 

(D) Neither (A) nor (B). 



24. ArtGpatti and Anupalabdhi are accepted as  valid sources of knowledge by 

(A) S-ya 

(B) Yoga 

(C) Advaita 

(D) NySya. 

25.  According to NyZya, pramZ is 

(A) Yathzrtha smrti . . 

(B) A-yathzrtha srnrti . . 

(C) YatGrtha anubhava 

(D) A-yathzrtha anubhava. 

26. The variety of things emerge from the primary substance, air, by condensation and 

rarefaction. This is the view of 

(A) Thales 

(B) Anaxirnines 

(C) Anaximander 

(D) Empedocles. 

27. The odd and the even, the finite and the infinite, the limited and the unlimited, 

constitute the essence of number and of reality. Which school of ancient Greek 

Philosophy advocated this view ? 

(A) The Ionians 

(B) The Sophists 

(C) The Stoics 

(D) The Pythagoreans. 

28. Virtue is the mean between excess and deficiency. Who advocated this view ? 

(A) Plato 

(B) Aristotle 

(C) Zeno of Elea 

(D) Heracleitus. 

[ P.T.O. 
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29. The very idea of God implies His existence. This is the essence of that proof of God's 

existence known as  

(A) Cosmological proof 

(B) Ontological proof 

(C) Teleological proof 

(D) Moral proof. 

30. According to Descartes, only which one of the following is true ? 

(A) Bodies are extensive and passive 

(B) Bodies are extensive and active 

(C) Bodies are both active and passive 

(D) Bodies are extensive and potentially conscious. 

3 1 .  "Indulge your passions for science, but let your science be human." Who is the author 

of this statement ? 

(A) Benedict Spinoza (B) John Locke 

(C) David Hume (D) Karl Man<. 

32. According to Immanuel Kant, which one of the following is not true ? 

(A) The laws of Logic are synthetic and a priori. 

(B) All judgments of Mathematics are synthetic and apriori. 

(C) Physics contains judgments a s  are synthetic and a priori. 

(D) Metaphysics contains judgments as  are intended to be synthetic and a priori. 

33. I exist, and, therefore, I think. Which philosopher upholds this view ? 

(A) Rene Descartes 

(B) Friedrich Nietzsche 

(C) George Wilhelm Hegel 

(D) Jean Paul Sartre. 

34. If 'p V q' is true, what can be said about the truth of 'p . q' ? 

CA) True 

(B) False 

(C) Undecided 

(D) None of these. 
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35.  To which Mood of the First Figure can DATISI be reduced ? 

(4 BARBARA 

(B) CELARENT 

(C) DARII 

(D) FERIO. 

36. In philosophy Descartes pursues the method of doubt which initiates a move in the 

direction of 

(A) negativism (B) solipsism 

(C) scepticism (D) certitude. 

37. Consider the following argument : 

All industrialists are intelligent. 

All meticulous persons are intelligent. 

:. All industrialists are meticulous persons. 

The above argument commits the fallacy of 

( four terms 

(B) illicit major 

(C) illicit minor 

(D) undistributed middle. 

38. Which of the following is a truth functional compound ? 

VV Jones died, because he ate fish with ice-cream 

(B) He believes that drinking tea in the morning is good for health 

(C) If the plane is hijacked, then there is real cause of anxiety 

(D) None of these. 

39. Which of the following is a tautology, given that p. q are any propositions ? 

(A) p 3 ( p . q )  

(B) ( p V q ) 3 p  

(C) p x ( - p = ) q )  

(Dl p 3 - p .  

- - - - -  
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40. The meaning of a proposition consists in its method of verification. Which school of 

philosophy advocates this view ? 

(A) Idealism 

(B) Pragmatism 

(C) Realism 

(D) Logical positivism. 

4 1. Which one of the following, according to Locke, is a correct description of substance ? 

(A) Substance is spiritual in nature 

(B) Substance has both real and nominal essences 

(C) Substance is the unknown locus of qualities 

(D) Substance is the cause of the world. 

42. Which of the following theories is related to C. S. Pierce ? 

(A) Fallibilism 

(B) Pragmatism 

(C) Tychism 

(D) Synechism. 

43. Leibnitz defines 'monad' a s  

(A) active force 

(B) physical object 

(C) mental object 

(D) none of these. 

44. By 'mode' Spinoza means that which 

(A) is in itself and is conceived through itself 

(B) exists in itself 

(C) is a being that is absolutely infinite 

(D) exists through something other than itself. 
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45. Particulars exist in space and time, but universals are neither in space nor in time. 

This view is given by 

(A) Aristotle (B) Hume 

(C) Descartes (D) Plato. 

46. Who regarded God as  the Unmoved Mover ? 

(A) Plato 

(B) Pythagoras 

(C) Aristotle 

(D) St. Anselm. 

47. Who said that water is the essential substance of the universe ? 

(A) Pythagoras 

(B) Heracleitus 

(C) Thales 

(D) Anaxagoras. 

48. Which one of the following is the view of Descartes regarding mind-body relation ? 

(A) Parallelism 

(B) Interactionism 

(C) Pre-established harmony 

(D) Monism. 

49. Who has said "Believe in order to understand" ? 

(A3 St.Augustine (B) St. Acquinas 

(C) St. Anselm (D) St. Peter. 

50. God has chosen this world a s  the best of all possible worlds, for He can will only the 

best. This view is related with 

(A) St. Anselm 

(B) St. Thomas Acquinas 

(C) St.Peter 

(D) St. John. 
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